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CSIR UGC NET 16 SEPTEMBER 2022
(Candidate Response Sheet)

Subject : 704_PARTA_CSIR_SEPT22_SET1_BIL

Question ID:- 560

If 90 people are to be s.eﬁted ra d?mly in 15 rows of 6 seats each, what is the probability that a
person gets a seat at either end of a row?

?

Options:-

.1/2, Option ID :- 2237,
. 1/4, Option ID :- 2238,
. 1/3, Option ID :- 2239,

. 1/15, Option ID :- 2240,
Answer Given:- 1/3, Option ID : -2239

Question ID:- 568

Consider a right angled triangle BAC with medians CM and BL having the same length. The ratio
of the length of BC to that of ML is

Ueh GHI0T YT BAC &1 faaR &R fiwrdht afarrsit CM a BL &Y war$ 9= g1 BC 3k ML &t

TS T ST &

Options:-

.2, Option ID :- 2269,

. 3/4 , Option ID :- 2270,
. 4/3, Option ID :- 2271,

. 1, Option ID :- 2272,
Answer Given:- 2, Option ID : -2269

Question ID:- 571

The wholesale price per unit of an item is @ up to first 19 units. The unit price falls by 10% if 20
to 29 units are purchased and by another 10 % if 30 or more units are purchased. If 120 units are
bought, the total price paid is approximately

foreht avg & ufar sopd Utes e, u2w 19 gt aeh Co 81 I} 20 & 29 Ferrsal Y @ig f w1 at,
ZhTS hIId 10% < STl @ 3R 30 ar 3ifdek garrzgal f @ ur sifaflRh 10% ge st @1 afy 120
FohTEal T S, gTE Tl e FiAa I
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.99 Cy, Option ID :- 2281, @g
. 97 Co, Option ID :- 2282,
. 91 Cq, Option ID :- 2283,

. 81 Cp, Option ID :- 2284,
Answer Given:- Not Attempted

Question ID:- 565

an | L. 1
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Options:-

.A, Option ID :- 2257,
. B, Option ID :- 2258,
. C, Option ID :- 2259,

. D, Option ID :- 2260,
Answer Given:- Not Attempted

Question ID:- 564
The arithmetic mean'offive numbers is zero. The numbers may not be distinct. Which of the
following must be true?

Ui STl o SiemTioTd i ATed o g1 S gueh (fA=) =1l off gt wenelt &1 fafaf@a 7 | s
g T 3HTa™eh 8?

Options:-

.The product of the numbers is zero

T3l T UTHHS YT &, Option ID :- 2253,

. At most two of these numbers are positive
39 Gl & @ 3ifdehaw &) =] U= & , Option ID :- 2254,

. There cannot be exactly one zero
AT Ueh HEAT [ gl g "ahelt &, Option ID :- 2255,

. There cannot be exactly one non-zero numbes
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HTH Ueh HE&AT AR (R-2[F) "ol Bhavend 81,30 tiaePImB0-72286( 72
Answer Given:- There cannot be ekl GMEGFINSIEPS RBHTP
| ek H&AT YAR (TR-3[) 781 gt Fehelt &, Option ID : -2256

Question ID:- 570
The graph shows number of employees, market share (as % by number of units sold), and sale (in
Rs. crore) forfive companies A, B, C, D, E.

Select the CORRECT statement
gig sufadt A, B, C, D, Eh swifierl Y T, aoiR Rer (<6 wit gergat Y dwer ufasa & &u
®), 3k fRsra fashl (Fels &=. /) &) e A femrar man 21

Hel HYA @l gy

Options:-

.A has the highest market share per employee, C has the highest sale for its market share
A ) ToIR fReRt ufa efifes aifder 8, C i fasra fashl aom fW@ed & g gaffdes 81,
Option ID :- 2277,

. C has the highest market share per employee, B has the highest sale for its market share
C i aoR fg@eid ufa wififer gaifdes g, B &t fasra foshl aoR R & oo gaffes 21,
Option ID :- 2278,

. D has the highest market share per employee, E has the highest sale for its market share
D A aoiR R e ufa hifdfer affder &, E R fasrg fashl TR RfEe™) & fag gaffdes 21,
Option ID :- 2279,

. A has the highest market share per employee, B has the highest sale for its market share

A F IoIR R ufa ffes gaffde g, B i fAera fash aomr R & fog affdes 21, Option
ID :- 2280,

Answer Given:- A has the highest market share per employee, B has the highest sale for its
market share

A &I TR R ufa wififes affaes @, B 6 fasra fash aor e & o affaes &1, Option
ID : -2280

Question ID:- 561
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Options:-

. A, Option ID :- 2241,
. B, Option ID :- 2242,
. C, Option ID :- 2243,

. D, Option ID :- 2244,
Answer Given:- C, Option ID : -2243

Question ID:- 562
Consider the following four statements.

Statement 1:“Statement 3 is true’

Statement 2: “Statement 1 is trué’

Statement 3: “Statement 1 is true and Statement 2 is falsé
Statement 4: “Statements 1, 2 and 3 are falsé

Which of the above statements must be true for the four statements to be mutually consistent?

fafafad IR sy ©) aa= 21

HY9 1: "FYT 39T "
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HYUT 3: "HUYT 1 G @ HR FYUT 2 sRpgigcmscsirnet@gmail.com
HYF 4: "HYF 1, 2, 3R 3 WA 1"

1 IR HYAT F 3= fRie g7 & g Iud™F wyEl | | ST 9 g1 AT 8?
Options:-

.Statement 1

Y- 1, Option ID :- 2245,

. Statement 2
YA 2, Option ID :- 2246,

. Statement 3
&Y< 3, Option ID :- 2247,

. Statement 4
YA 4, Option ID :- 2248,
Answer Given:- Not Attempted

Question ID:- 555

In a test with multiple choice questions, candidates get 4 marks for a correct answer and lose 1
mark for an incorrect answer. Two candidates A and B attempting 18 and 13 questions,
respectively, secure equal marks. How many more INCORRECT answers does A have compared to
B?

g farerea wat aret ger TR A, envafdal &t ddes Tt IR & A7 4 ofes v g1 & ok vdes era
IR & fIQ 1 ik ww famar ST @1 &) sraaffat, A ok B A shwer: 18 @ 13 usil &l &, Uah 9| 3ich
ured faRdt1 A &, B it srdert fahat a1fdes eta IR &2

Options:-

.3, Option ID :- 2217,
. 4, Option ID :- 2218,
. 5, Option ID :- 2219,

. 6, Option ID :- 2220,
Answer Given:- 4, Option ID : -2218

Question ID:- 573
There are two concentric circular tracks A and B of width 2 m each as shown in thigure. If r =
30m, what is the ratio of the areas of Track A to Track B?

Star s R d R mar @, t G- qaaR ¢F A RBE AR vl fr e 2 d g1 aflkr =30
# 8, ¢ A 3R ¢oF B & &ithel o S1guTd fahe=T 82

Options:-

.28/13, Option ID :- 2289,
. 2/1, Option ID :- 2290,

. 29/14 , Option ID :- 2291,

. 5/3, Option ID :- 2292,
Answer Given:- 29/14 , Option ID : -2291

Question ID:- 569 6
A battalion consists of elephants, horses and soldiers totaling to 3500. There are twice as many
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horses as elephants and one-folithhiuf. thel S6RIiarS ab® FrdingAhese animals. In the stand still

position, number of feet on groun&Bd500sTHewiUEB@EBLROYses in the battalion is

g1, atst ofik Raifaat @ a+ft uas Terforas & fS=reht e dwar 3500 g1 39 uist 6 wwear gl
& Tz hi SR @ SR gen-atuTs ATl 37 STHaR] R 9aR 81 3t gF Srawt #, tRTad wR =Ron i
T 7500 g1 Ferfera # 1St & dar @

Options:-

.525, Option ID :- 2273,

. 625, Option ID :- 2274,

. 550, Option ID :- 2275,

. 600, Option ID :- 2276,
Answer Given:- 600, Option ID : -2276

Question ID:- 563

On a track of 200 m length, S runs from the starting point and R starts 20 m ahead of S at the
same time. Both reach the end of the track at the same time. S runs at a uniform speed of 10
m/s. If R also runs at a uniform speed, then how much more time would R take to run the entire
course?

ek 200 Ht 77 ¢ R, ¢ & RN fig & S, 7 36 20 HY it § R, Tk & 99T EEAT 3R e
&1 ¢ & oid W a1 er & w3 aged €1 S 10 H/A &Y gram= wfar @ Srear @1 afd R +ff gaawm=
nfar @ gtzar @, @t R &l IR 2ok &l gz A fohan ok oifdes gwg s@bm?

Options:-

.0.5 second
0.5 ¥<hs, Option ID :- 2249,

. 1.0 second
1.0 Q<he, Option ID :- 2250,

. 1.5 second
1.5 ¥k , Option ID :- 2251,

. 2.2 seconds

2.2 9<hg , Option ID :- 2252,
Answer Given:- 2.2 seconds
2.2 @<hs, Option ID : -2252

Question ID:- 557

Given figure represents pH, partial pressure of CQ (pCO,), and temperature (T) in an experiment conducted

in a water sample over 20 days. Which of the following statements can definitely be made based on this
experiment?
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Options:-

.High CO; causes global warming.

31k CO, & isea arashd | gf it &1, Option ID :- 2225,

. High temperature causes acidifcation.

31fAeh aTaHTE | SrvefiaeR T g4t &1, Option ID :- 2226,

. There is a decrease in pH and an increase in both T anghCO, over 20 days.

20 = & sieRTeT UR, pH "ear g SiiR argw= 4, pCO, &1 7 gig gi<ht 81, Option ID :- 2227,

. pH and pCO, are positively correlated while pH and T are inversely correlated.

pH T pCO, YATH® JgHddd g, STafe pH a T ufdeiad: 9gds«fad &1, Option ID :- 2228,

Answer Given:- Not Attempted

Question ID:- 556
A ranks 10" from both the top and the bottom in merit among the girls in her class. B ranks'8

from the top and 16 from the bottom among boys in the same class. If A is immediately ahead
of B in merit order, her rank in the entire class would be

Ut shefm 7, Tefehral & a¥adar s |, A &1 ®IF 91 R A g i 4/, 10 ai g1 3t werr A, dsahl &
T shF |, B T R HUR @ 6 3T 3R 1 & 16 ai g1 a<taar svd 4, A afe B & §leh 3uR g, S+t
T8 el § IR (A 1) I ghm

Options:-

.16 from the top and 26" from the bottom

FWR T 16 ai ok A @ 26 ai, Option ID :- 2221,

. 15t from the top and 26" from the bottom
IR @ 15 gi 3R A & 26 at, Option ID :- 2222,

. 15t from the top and 220 from the bottom
FWR A 15 g iR fi= & 27 ai, Option ID :- 2223,

. 16t from the top and 27" from the bottom
FWR T 16 ai R 4 @ 27 ai, Option ID :- 2224,
Answer Given:- Not Attempted

Question ID:- 558

A 360 ml aqueous solution contains 40% ajcoho|. How much will be the approximate percentage
of a?co'l?ol if 3600 ml of water is agdet? to tLe solution? PP P 9

Teh 360 A< STefia Hiel T 40% 3icehigd &. afe 39 9 & 3600 A ur-it fA«mar s at «renT faha=
ufa=rd Sieehigsd ghm?
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. 3.6, Option ID :- 2230,
. 4.0, Option ID :- 2231,

. 1.0, Option ID :- 2232,
Answer Given:- 3.6, Option ID : -2230

Question ID:- 572

Two digital clocks show times 09h 13m and 09h 17m, respectively, at one instant. Exactly 30
seconds later the clocks show 09h14m and 09h17m, respectively. Which one of the following
options is a possible difference between the times maintained by the two clocks?

Ueh Y, &t f2fSes afzai wagn 094 131 sfik 094 171 o gafdt 1 Siar 30 Qe ugyrq afzar
AT 09% 14fR 3R 098 170 gt &1 3 ufsal grT TurRa wwat & S &1 darfag siar R fkw
¢ fereal & & )= 41 82

Options:-

. 3m 00s
3f% 00, Option ID :- 2285,

. 30s
30%, Option ID :- 2286,

. 4m 00s
4f& 00, Option ID :- 2287,

«4m 30s

4f% 30, Option ID :- 2288,
Answer Given:- 4m 00s
4f 00, Option ID : -2287

Question ID:- 574

A 5 kg watermelon contains 99% water by weight. Some of the water evaporates and the melon
now contains 98% water by weight. What is the weight (in kg) of watermelon now?

Qs 5 fhum avest § YR &1 99% Ut 1 39T o Uit arfda g Sirar @ SR aRaet d o1a & R &l
98% UT-fI g1 aRST &t WR (faum /) arar fahe=ir 82

Options:-

.4.5, Option ID :- 2293,

. 2.5, Option ID :- 2294,

. 4.8, Option ID :- 2295,

. 4.9, Option ID :- 2296,
Answer Given:- 4.9, Option ID : -2296

Question ID:- 567

The number of three digit PINs, in which the third digit is the sum of théirst two digits, is
Options:-

.55, Option ID :- 2265,
. 9, Option ID :- 2266,
. 45, Option ID :- 2267,

. 11, Option ID :- 2268,
Answer Given:- Not Attempted

Question ID:- 566

Of all the English magazines published in a couﬁtry, magazine M is read by the highest number <|>f
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readers. It necessarily follows tHaitone: 8113887329, 8075791772
Teh 321 A UehrfAd 9t sitsh ufFerr&imdi cofesinive thy onsst. ebear waffdes g1 ag siffeard ®u

SIERYT Twat g R
Options:-

.M is the most popular English magazine published in the country.

M 221 & yehtfra affdes o sittsht ufesr &1, Option ID :- 2261,

. M is the most popular English magazine in the country.

M 221 # gaffae wtefra sidsht uf3et &1, Option ID :- 2262,

. M is the most popular magazine in the country.

M 221 & "affde Atenfora ufest 81, Option ID :- 2263,

. The study has not considered the readership of English magazines published outside the
country.

9 g § 39T | I1gR UhIfAd siisit ufSerrsit & ursemont o= famr 1 favar mar @1, Option ID :-
2264,

Answer Given:- M is the most popular English magazine published in the country.

M 221 & wertfd aifQer wtenior ittt afderr &1, Option ID : -2261

Question ID:- 559

A set of 27 similar looking coins has 26 identical coins and one dummy coin having less weight.
What is the minimum number of weighings that will ensure identifation of the dummy coin
using a two-pan balance?

Teh 19 = a1« 27 fAal & de & 26 Rk 1f = (Taheu) @ 3R T 7 9R aren ufa=dt f&aenr
81 3t ueEl areft Teh aR1o] @ gHAaH fhat IR dte awr ufaesdt Rads i ugar gfafga & s aanfi?
Options:-

.3, Option ID :- 2233,
. 4, Option ID :- 2234,
. 5, Option ID :- 2235,

. 6, Option ID :- 2236,
Answer Given:- Not Attempted

Subject : S1 B UNIT-1

Question ID:- 289

UNIT - 1
= 1%n41
Fg-gees
n=1
& fuaag?
Options:-

.It does not converge.

! 10
gg ufAaRa gl g1, Option ID :- 1153,




. It converges toe
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g e " 1 -1 &t ik srfuafRa gt &1, Option ID :- 1154,

. It converges toe

-1.

aze -1 <Y ek arfaafRa gt 21, Option ID :- 1155,

. It converges toe "1 +1.

Tg e 1 +1 &t 3k rfAaRa i<t &1, Option ID :- 1156,

Answer Given:- It converges toe 1.

e 1 &Y 3R gl gt 21, Option ID : -1155

Question ID:- 295

UNIT - 1

Options:-

.1, Option ID :- 1177,

. 2,OptionID :- 1

178,

. infinite and countable

34 3R Mg, Option ID :- 1179,

. infinite and uncountable

3 SR nTog

, Option ID :- 1180,

Answer Given:- 2, Option ID : -1178

Question ID:- 294

UNIT - 1

Let f,,: [V, 1] = K

be given by

£ =m+2)(m+ D"l —1), forall tin [0, 1].

Which of the following is true?

B f,:[0, 1] -
fn(0) = (n+2)(n

R &I FHd: oad fooan oian 8 -
+ D (1—10),[0, 1] Ht H I AFl & femw |

FAdd e A qa e

11
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The sequence (f,) converges unifoﬁme.": cmscsirnet@gmail.com

it (£,) THTAMT: ARG B 2 ,

Option ID :- 1173,
The sequence (f;,) converges pointwise but not uniformly.

9ufl (£,) figaR Wﬁﬂ:&{f\wﬁaaﬁéﬁaﬂw:ﬂﬁ.

Option ID :- 1174,

Option ID :- 1175,

Option ID :- 1176,

Answer Given:-

, Option ID : -1174

Question ID:- 299

UNIT - 1

el bt B Y B B R B | BN Lo B e B 4

Options:-
For all nonzero real numbers a, b, there exists a real number ¢ such
that the vectors ax + b, x + ¢ € VV are orthogonal to each other.

12
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gl qrKiidd T3 a, b WPRE %W%@Tﬁ@ﬁ
UHR ¢ b gien ax+b,x+c EVE% g?ﬂ% ﬁﬁ?&é(‘%qma' -com

Option ID :- 1193,
For all nonzero real numbers b, there are infinitely many real
numbers ¢ such that the vectors x + b, x + ¢ € V are orthogonal to
. each other.

I YRR arxiides GArSl b & O1Y, 59 UBR Dl 3fid
Wﬁﬂaﬂ'@ﬁc%ﬁ?ﬂmx+b,x+ceVﬂ$—wa3
dead g ‘

Option ID :- 1194,

Option ID :- 1195,

Option ID :- 1196,
Answer Given:- Not Attempted

Question ID:- 302

UNIT - 1

Options:-

Optio'n ID :- 1205,

. hr |

Option ID :- 1206,

. n’r

Option ID :- 1207,

L ni—nr ’

Option ID :- 1208,

Answer Given:- Not Attempted

Question ID:- 291

UNIT -1 13
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Suppose (@, ),»; and (b, )= are twoBalirRaCHRY@eMHILeaM
numbers.

Which of the following is true?

T B (@)1, T (b)), ARCITAD ST & & UREE SBA T
A AY ST YT g 22

Options:-
Option ID :- 1161,
Option ID :- 1162,

Option ID :- 1163,

Option ID :- 1164,
Answer Given:- Not Attempted

Question ID:- 300

UNIT - 1

Options:-

Option ID :- 1197,

If Q(xy, X3, X3) is positive definite, then a;; > 0 for all i.
G Q(xy, x5, x5) YD FET S A Gl i H T g, >0 B

Option ID :- 1198,
Ifa;; > 0foralli # j, then Q(x;, X, x3) is positive definite.

e aHl i = j P RTa,, > 08I, Q(xl,xz,xg)ﬂﬂma BIEGE]
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Option ID :- 1199, Phone: 8113887329, 8075791772

Ifa;; > 0foralli, then Q(xy,x;, &ﬂ@ibmmsggﬁﬁ@gmail.com

i gl i BT a,, > 0 BT, Qxy, x5, x,) UFIASD FIEA B

Option ID :- 1200,
Answer Given:- Not Attempted

Question ID:- 301

UNIT -1

Options:-

Option ID :- 1201,

Option ID :- 1202,

4

Option ID :- 1203,

Option ID :- 1204,
Answer Given:- , Option ID : -1201

Question ID:- 290

UNIT - 1
Juft
(=] aﬂ
ZB nk(log n)*
R fa9R #¥ |

a,b,c € R fob A1 & foru gg Aol oifiaid =gt sidl 2

15
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’

Option ID :- 1157,
a=1,b>1,c€eR
Option ID :- 1158,
,a=11=2b=0,c<1
Option ID :- 1159,
.a=-1,b=20,c>0
Option ID :- 1160,

’

’

Answer Given:- , Option ID : -1159

Question ID:- 293

UNIT - 1

Options:-

Option ID :- 1169,

Option ID :- 1170,
. W, is a singleton for every p.

Rp d T w, Wieas
Option ID :- 1171,
. W, is empty for some p and singleton for some p.

5 p P T W, RIS AT p B L THAE |

Option ID :- 1172,
Answer Given:- Not Attempted 16
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UNIT -1

Suppose A and B are similar real matrices, that is, there exists an invertible matrix S such that
A=SBA’1.
Which of the following need not be true?

A foF A auT B 99 arefdeh Siegg &, S1ufa 4 &l sgernvita siiegg S @ fadh g A=SBA™
gl
A 9 @ )9 91 F U= 9 g1 Sy T8 &2

Options:-

.Transpose of A is similar to the transpose of B.

A 1 yRad B & 95y g1, Option ID :- 1185,

. The minimal polynomial of A is same as the minimal polynomial of B.
A &1 31felrss ague B & 31fcss ague & sRrer &1, Option ID :- 1186,

. trace(A)=trace(B)., Option ID :- 1187,

. The range of A is same as the range of B.

A <R URTH 3R B T URTH sRTeR &1, Option ID :- 1188,
Answer Given:- The range of A is same as the range of B.

A R WRTH 3R B &I IRTH SRR &1, Option ID : -1188

Question ID:- 292

UNIT -1
G
¥ = (o )nzas fim x, HRITHTEE; ST x,6(0,1}}
GRT URHING g1 dl 79 & &F |1 &Y+ 9d g2
Options:-

X, Y are countable.
17
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Option ID :- 1165,
. X is countable and Y is uncountable.

X T QT ¥ 2FT0HI &
Option ID :- 1166,
. X is uncountable and ¥ is countable.

X SAUHE Iy AT

Option ID :- 1167,

Option ID :- 1168,
Answer Given:- Not'Attempted

Subject : S1 B UNIT-2
Question ID:- 316

UNIT - 2

Options:-

.N is an ideal in R.

Sit N 8, 9¢ R # TursiTa«dt ¢ , Option ID :- 1261,

. N is never an ideal in R.

St N 8, ag R ® &+t 1urstrasdt =1gf 8, Option ID :- 1262,

. If R is non-commutative, N is not an ideal.

gfy R #-fafaa A= & at N [ursteash 78 &, Option ID :- 1263,

. If R is commutative, N is an ideal.

R:r-!ahﬂu N:!glﬁladl 1 tion ID :- 1264
Rlin%swer iven:-ﬁ-ﬂﬁis mmutat?ve: ﬂplslg?l |J<)1eal. !

gfy R #-faffsa & &t N 7urstersit & 1, Option ID : -1264

Question ID:- 313

UNIT - 2
18
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Hﬁﬁﬁf@j:(r—@éﬂ§%=1+z;d%zw

FRAT T TS A ?
Options:-
2
Flroy — _w2al@+s)

Option ID :- 1249,

Option ID :- 1250,

Option ID :- 1251,

Option ID :- 1252,
Answer Given:- Not Attempted

Question ID:- 314

UNIT -2

Options:-

Option ID :- 1253,

Option ID :- 1254,
f has at most finitely many distinct zeros in C

£ % CH 3 ¥ 1 aRfHS T Bl
Option ID :- 1255,
f can have a zero outside U

fRUS TR AT IATG]

Option ID :- 1256,
Answer Given:- Not Attempted 19
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Question ID:- 317

UNIT - 2

Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

Let R be a commutative ring with identity. Let § be a multiplicatively
closed set such that 0 € S. Let I be an ideal which is maximal with

respect to the condition that

Snl=a.

Options:-

.l is a maximal ideal.

1 3frss TUrSTTast 81, Option ID :- 1265,

. I is a prime ideal.

| 19T TUTSTTas! g1, Option ID :- 1266,

. I=(1)., Option ID :- 1267,
. I =(0)., Option ID :- 1268,

Answer Given:- Not Attempted

Question ID:- 312

UNIT - 2

Options:-

mWn$Waﬂ=nn

Option ID :- 1245,

’

yv=_0>2n+ l)gfor some integer n.

feoelt quiiep n & férg y = (2n+ 1) 2

Option ID :- 1246,
y = nn for some integer n.

W@ﬁ%n%ﬁ‘l{y=nn'

20
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Option ID :- 1247, Phone: 8113887329, 8075791772

x=0n+1) gfor some integer ﬂ!Emall: cmscsirnet@gmail.com

febelt quifep n & foq x = 20+ )2

Option ID :- 1248,
Answer Given:- Not Attempted

Question ID:- 311

UNIT - 2

Options:-

Option ID :- 1241,

Option ID :- 1242,

Option ID :- 1243,

Option ID :- 1244,
Answer Given:- Not Attempted

Question ID:- 315

Let G be a simple group of order 168. How many elements of order 7 does it have?
FifE (order) 168 &1 ek e |Hg G isfigl 36H ife (order) 7 % fohat sraaa g ?
Options:-

.6, Option ID :- 1257,

. 7, Option ID :- 1258,

. 48, Option ID :- 1259,

. 56, Option ID :- 1260,
Answer Given:- 6, Option ID : -1257

Question ID:- 318
Let X be a connected metric space with at Ieas; Iwo pointsWhich of the following is necessarily
true?
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A ok X ¢t deig gfter anfe g fRewhend 1308 B RgDBred @ sl ar srffard«a: @ 82

Options:- Email: cmscsirnet@gmail.com

.X has finitely many points.

X # feigait &t wwar ulRfaa g1, Option ID :- 1269,

. X has countably many points but is noffinite.

X orig @ uig uRfAa =gl , Option ID :- 1270,

. X has uncountably many points.

X epTuria @1, Option ID :- 1271,

. No such X exists.
oY et X @1 sifeae =1t &1, Option ID :- 1272,

Answer Given:- Not Attempted

Subject : S1 B UNIT-3
Question ID:- 333

UNIT - 3

Options:-
Option ID :- 1329,
Option ID :- 1330,

Option ID :- 1331,

Option ID :- 1332,
Answer Given:- Not Attempted

Question ID:- 334

UNIT-3

22
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Phone: 8113887329, 8075791772
Assume that a particle of mass Bmail: emsastinet@ gmaiteom on the
hyperbola xy = b under gravity g, with b being a non-zero constant; here
x is the horizontal direction and y is the vertical direction.
Which of the following is Lagrange’s equation of motion?

A % ST m BT i BT HfARITAT xy = b RTEA g S UHE

I%ETFF%W?ET%,GIBTE:@W@W B, auT x &f fezm ot v S|
|

7 o O B |1 T &1 T BT IR 8

Options:-
Option ID :- 1333,

Option ID :- 1334,

Option ID :- 1335,

Option ID :- 1336,
Answer Given:- Not Attempted

Question ID:- 332

UNIT -3

Options:-
y=u
Option ID :- 1325,
_ 2x%4axt
3 ’

Option ID :- 1326,
3

y=—x
Option ID :- 1327,
_ xt4xt

= 7 23

° ]
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Option ID :- 1328, Phone: 8113887329, 8075791772

—x3 Email: cmscsirnet@gmail.com

Answer Given:- ¥ = , Option ID : -1327

Question ID:- 330

UNIT-3

Consider the second order PDE
iy, + bu,, +au,, =0 in R?

Options:-

Option ID :- 1317,

Option ID :- 1318,

Option ID :- 1319,

Option ID :- 1320,
Answer Given:-

, Option ID : -1319

Question ID:- 328

UNIT-3

24
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Phone: 8113887329, 8075791772

Let G:[0,1] X [0,1] — R be definedpail: cmscsirnet@gmail.com
B (o O EE e A S
Gt x) = [x(l _ifx<t<l

For a continuous function f on [0,1], define

Il =, [ 6 (6 0)f(0) f(x) dt dx.

Which of the following is true?

G:10,1] X [0,1] - R I (=1ad ufHIitg &Y

Options:-

Option ID :- 1309,

Option ID :- 1310,

Option ID :- 1311,

Option ID :- 1312,
Answer Given:- Not Attempted

Question ID:- 331

UNIT -3

“—\g of

Let G be the associated Gauss-Seidel iteration matrix. What are the two
eigenvalues of G ?

25
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ok EEehple s s kR chad

1 2
AZ(B 9)'
I & ¢ Tas Teu-Hed TR Mg 8 | 6 H &l
SHAe O AF o1 g2
Options:-
.0and 4/3

0 dur 4/ 3, Option ID :- 1321,
. 0 and -4/3

0 4T -4/ 3, Option ID :- 1322,
. 0and 16/9

0 duT 16/ 9, Option ID :- 1323,
. 4/3 and -4/3

4/ 3 a4t -4/ 3, Option ID :- 1324,
Answer Given:- Not Attempted

Question ID:- 329

UNIT -3

Options:-

r\l‘\‘ L B M T RN L N S |
Option ID :- 1313,

du i
= also solves the wave equation (*).

2 o) TR FHIBRUI () B 8 R Webell 3|

Option ID :- 1314,
u(3x, 9t) also solves the wave equation (*).

u(3x,9t) HI T FHIHT (=) DI B DX Hebal 24
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Option ID :- 1315, Phone: 8113887329, 8075791772

u(3x, 3t) also solves the wave eqfiiglk cryscsimet@gmail.com

u(3x, 3t) Hi T THIH(+) Bl 86 P el g ,

Option ID :- 1316,
Answer Given:- Not Attempted

Question ID:- 327

UNIT-3

Options:-

. There exists a unique local solution.

YR s Afgda U= g1 & , Option ID :- 1305,

. There exists a local solution but may not be unique.

FHHT i TUTHIT g ¢ fohg gt Fanar & sifgelta 7 g1, Option ID :- 1306,

. There may not exist any solution.

Bl TehdT @ 39k i g 9 &1, Option ID :- 1307,

. If local solution exists then it is unique.

g TAT g gl af ag ifgeia &t ghvmi , Option ID :- 1308,

Answer Given:- Not Attempted

Subject : S1 B UNIT-4
Question ID:- 341

UNIT - 4

27
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Phone: 8113887329, 8075791772

Let X, ..., X,, be a random sample fr%%'d%@r%‘%%‘ﬂ??ﬁ@%ﬁ@r‘l&%’ﬂ
probability mass function

P(Xl o 1] :M

PX,=2)= i
=5 Pl =D =5—

2—-48

where 8 € (0,1) is unknown. Let X = % Then, the method of

moments estimator of @ is

aH & x, . X, ﬁﬁiﬁﬂﬂﬁﬁ&ﬁ%m%ﬁmﬁ?ﬁm

Options:-

. ]

Option ID :- 1361,

Option ID :- 1362,
Option ID :- 1363,

Option ID :- 1364,

Answer Given:- , Option ID : -1363

Question ID:- 343

UNIT - 4

Options:-

.(-0.5, 2.5), Option ID :- 1369,
. (0.5, 2.5) , Option ID :- 1370,
. (-2.0, 0.4), Option ID :- 1371,

. (-2.0, -0.4), Option ID :- 1372,
Answer Given:- Not Attempted

Question ID:- 337

UNIT - 4 28




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

) Email: cr_nscsirr_\et%gmail.com
Let X,,X;, ..., X,, be independent and identically distributed random

variables with probability density function

e 8 ifx >89,
0, otherwise.

o -1

If X1y — i log, 10, X(4) is a 1005% confidence interval of 8 where
Xy = min{X;: 1 =i < n}, then the value of f is

0 & X, X, .., X, 9 Uil de wa did oA aul - |ayl

Options:-

.0.95, Option ID :- 1345,

. 0.9, Option ID :- 1346,

. 0.975, Option ID :- 1347,

. 0.92, Option ID :- 1348,
Answer Given:- 0.95, Option ID : -1345

Question ID:- 336

UNIT - 4

Options:-

’

Option ID :- 1341,
Option ID :- 1342,

Option ID :- 1343,

Option ID :- 1344,
c+2c2

Answer Given:- 1+c+¢* | Option ID : -1342

Question ID:- 335

UNIT - 4

29
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Phone: 8113887329, 8075791772

In a random experiment a fair coin i%@ﬁé&@ﬁ&éﬂ'ﬁ%@%ﬁ‘%ﬁ%@bd six

faced die is rolled N times, where
g 100, if Headappears
T {101, if Tail appears.

Let Y denote the total number of times 6 appears out of N. Then
P( Head |Y = 15) equals

ot arefessd T # U M Ridw! Th IR 337 il g | fih
U AT Yeh AP Urdl N R thebl Idl 8, ol

Options:-

Option ID :- 1337,
Option ID :- 1338,

Option ID :- 1339,

Option ID :- 1340,

Answer Given:- , Option ID : -1337

Question ID:- 340

UNIT - 4

Options:-

Option ID :- 1357,

30
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Option ID :- 1358, Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

Option ID :- 1359,

Option ID :- 1360,

Answer Given:-

, Option ID : -1358

Question ID:- 345

UNIT - 4

Options:-
.Connected but not orthogonal

THag wiferq difaes =gt , Option ID :- 1377,

. Orthogonal but not connected

wifares @ifehd Wag ¢l , Option ID :- 1378,
. Neither connected nor orthogonal

9 Harg, | Hiferes, Option ID :- 1379,

. Both connected and orthogonal
Tag aYT Aifaes &A1, Option ID :- 1380,
Answer Given:- Not Attempted

Question ID:- 338

UNIT - 4

Suppose X ~ Binomial(10, %), Y ~ Binomial(ll,%), where X and Y are
independent. Then, P(X < Y)is

4 fb X ~ Binomial(10,3), ¥ ~ Binomial(11,3), SIgT X T ¥ e €|
dEPX<Y)’
Options:-

less than %

31
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Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

Rk
Option ID :- 1349,

1
equal to =

B TR
Option ID :- 1350,

1 10
greater than - but less than or equal to o

1 adere— 25— 10 2 —r v e ==y

Option ID :- 1351,

Option ID :- 1352,
Answer Given:-

, Option ID : -1350

Question ID:- 339

UNIT - 4

Options:-

.(5+Y, X-3)., Option ID :- 1353,

« (-5-Y, X-3)., Option ID :- 1354,
« (5+Y, X-3)., Option ID :- 1355,

« (-5-Y, X-3)., Option ID :- 1356,
Answer Given:- (-5-Y, X-3)., Option ID : -1354

Question ID:- 342

UNIT - 4

Let X be a random variable with probability density function f(-). Then
hased on a single observation X, the most powerful test of size 0.2 for
testing

4x3, if0<x <1,
i) = [O, otherwise

x7, if0<x <1,

_ 8
against Hy: f(x) = [0 otherwise

has power
32
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AR 6 x Ui I e ﬂlrﬁﬁﬁ?ﬁ%ﬁ%@ cér7n72

Hy: f(x) = { qﬁtl{x{lw f(x)_g 0-=:x<
P UH THAET X & YR R GHe2g 0.2 B{IHNQSW@I
iferTIredt ulign &t =fdd §

Options:-

.0.81, Option ID

:- 1365,

. 0.89, Option ID :- 1366,
. 0.64, Option ID :- 1367,

. 0.36, Option ID :- 1368,
Answer Given:- Not Attempted

Question ID:- 344

UNIT - 4

Options:-

.central chi-square with 8 degrees of freedom

8 Ty hife arear Shdia i aif , Option ID :- 1373,

. not chi-square

@h1s-af At , Option ID :- 1374,

. central chi-square with 9 degrees of freedom

9 1= hife areT el ahrg — et , Option ID :- 1375,

. hon-central chi-square

3rehe1T hrE-af , Option ID :- 1376,

Answer Given:- central chi-square with 9 degrees of freedom

9 W1 <hife aTeT S ah1g — aif , Option ID : -1375

Question ID:- 346

UNIT - 4
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Consider the following maximizatiorﬁﬁ?@ﬂié}mscs'met@gma"'com
maximize: x; + 3x,
subject to the constraints x; = 0, x;, = 0 and
xn+x, = 6
2%, +x, = 8
x +2x;, = O
Which of the following is the dual problem?
A s adicem ooen w faaw &9

A

Options:-

Option ID :- 1381,

Option ID :- 1382,

Option ID :- 1383,

Option ID :- 1384,
Minimize: 6y, + 8y, + 9y, subjecttoy, = 0,v, =0, v, =0,

Answer Given:- nt2y,+y; =1Ly, +y, +2y, =3.

GAqHIGd B 6y, + 8y, + 9y, MAEU T d y, = 0,3, >0,

Ya=0, yy+2y,+ya =1, +y, +2y; = 3. , Option ID : -1381

Subject : ST C UNIT-1

Question ID:- 367 34
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UNIT - 1 Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

let 2 =U_, (i,i + 1) © Rand f:£2 — R be a differentiable function
such that f'(x) = 0 for all x € 12 and let g: R — R be any function.

Which of the following statements are true?

A b0 =Us_, (i,i + 1) c RAY £:0 - R U U SfAdhaiid e s,
Tix e 0P RUF =081 TF b a:R > RDIS Hl Ber gl

Options:-

Option ID :- 1465,

Option ID :- 1466,

Option ID :- 1467,

Option ID :- 1468,
Answer Given:- Not Attempted

Question ID:- 372

UNIT - 1

35
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Email: cmscsirnet@gmail.com

Options:-

Option ID :- 1485,

Option ID :- 1486,

Option ID :- 1487,

Option ID :- 1488,

Answer Given:-

Y WUV TN MM L@ Option D : -1485, 1486, 1487, 1488

Question ID:- 374

UNIT -1

Let (X, d) be afinite non-singleton metric space. Which of the following statements are true?

aF ok (X, d) g uRMT gahaar (non-singleton)%ﬂﬂ-? ufe g1 A 7 @ &9 @ gaxea 99 82
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. Phone: 8113887329, 8075791772
Options:- Email: cmscsirnet@gmail.com
There exists 4 € X such that 4 is not open in X.

W dlsAcxefd xd4fagadial
Option ID :- 1493,
. X is compact.

XUgdgl
Option ID :- 1494,

Option ID :- 1495,

Option ID :- 1496,
Answer Given:- Not Attempted

Question ID:- 366

UNIT - 1

Options:-
Option ID :- 1461,
Option ID :- 1462,

Option ID :- 1463,

. ’

Option ID :- 1464,
Answer Given:- V2 , Option ID : -1461

Question ID:- 365

UNIT -1

37
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Phone: 8113887329, 8075791772

Which of the given sequences (a,,) sﬁfﬂﬂyiﬁmmﬁ@@éﬂﬁwm

limsup a,, = —liminf a,
AU T 3T (0,,) A SH U FH Pl Ugee Fat g 2
limsup a,, = —liminf a,

Options:-

Option ID :- 1457,

Option ID :- 1458,

Option ID :- 1459,

Option ID :- 1460,
Answer Given:- Not Attempted

Question ID:- 370

UNIT - 1

My L@, WITHITYHI G F

Options:-

«The limit does not exist.

sgdm @ s g g 1, Option ID :- 1477,
1

. a%+1 , OptionID :- 1478,
¥

. a+l , Option ID :- 1479, 38
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1 Phone: 8113887329, 8075791772
a+a+l , Option ID :- 1480, Email: cmscsirnet@gmail.com
1

Answer Given:- a+1 , Option ID : -1479

Question ID:- 380

UNIT -1

Let W be the space of C-linear combinations of the following functions

Options:-

Option ID :- 1517,

Option ID :- 1518,

Option ID :- 1519,

Option ID :- 1520,
Answer Given:- Not Attempted

Question ID:- 378

UNIT - 1

Let U and V be the subspaces of B defined by

x
U =[(y)E]R3|2x+3y+4z=0},
z

x
|4 ={(y)E]R3|x+2y+52=0}.
z

Which of the following statements are true? 39




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

o+ f& vaur v, R ﬁﬁwqﬁmﬁ%ﬁ@%@mail.com

x
U ={(}’)E]R3|2x+3y+4z=0},

Z

X
v ={(y)E]R3|x+2y+52=U}.
z

BEE e EREIR R N R

Options:-

Option ID :- 1509,

Option ID :- 1510,

Option ID :- 1511,

Option ID :- 1512,
Answer Given:- Not Attempted

Question ID:- 371

UNIT - 1

Let [x] denote the integer part of x for any real number x. Which of the
following sets have non-zero Lebesgue measure?

A b [x] fobddt off arafde G« & quifes dTed 3 &l PR d &l
&1 7 1 O D19 9 Gyl &1 ek A1 IR 82

Options:- 40
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Phone: 8113887329, 8075791772

e T
o {x € [1, o0):limy, o [x]" exists} Email: cmscsirnet@gmail.com

{x € [1,0): lim,__[x]" KA H )

Option ID :- 1481,
. {x €[1,00):lim, . [x"] exists}

(x € [1,00): lim,_.[x"] 3KTEH )
Option ID :- 1482, '

Option ID :- 1483,

Option ID :- 1484,
Answer Given:- Not Attempted

Question ID:- 373

UNIT - 1

Options:-

{95 (0,0) W f Hefd &
Option ID :- 1489,
The partial derivative f, does not exist at (0,0).

33 (0,0) W 3P sahas Ui el 8

Option ID :- 1490, a1
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. o ; - Phone: 887329, 8075791772
. The partial derivative f, is contﬁnu@%gﬁ@m esimet@gmail.com

31ifI famad £, fdg (0,0) R Iad

Option ID :- 1491,
f is differentiable at (0,0).

’

g (0,0) R f aPpaa gl
Option ID :- 14927,7

Answer Given:-

7

, Option ID : -1489, 1492

Question ID:- 369

UNIT - 1

Options:-

Option ID :- 1473,

Option ID :- 1474,

g £ gdal aHHM T4 UREG ¢ a9 £ Ueh-GHM: 9ad g

Option ID :- 1475,
If f is uniformly continuous then it maps Cauchy sequences into
convergent sequences.

M £ Uh-GHF: Gald § a8 U IR SfehHl Bl AERT il
# ufafafad s gl
Option ID :- 1476,

42
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For every c,d sucﬁ)mé\?[c?:'tﬂ]séséﬁ $OF24tittéd to [c, d] is
Answer Given:- uniformly continuo@?ﬁgn%ﬂﬁﬁfﬁ \g%h?l%us.

afe YA c.d DD R Ie, d1.S (a, b) 8, B £ BT [c, d] R
yfdds Uh-T9Hd: 9dd g, dl £ Uh-GHHd: 9dd 8l

’

If fis strictly increasing and bounded then f is uniformly continuous.

gfe £ Gdal 94HH 7Y UREG & a9 £ Uh-THFd: 9dd g

If f is uniformly continuous then it maps Cauchy sequences into
convergent sequences.

, Option ID : -1474, 1475,
1476

Question ID:- 368

UNIT - 1

Options:-

.Only S1.
e« S1., Option ID :- 1469,

. Only S3.
thaet S3., Option ID :- 1470,

. Only S1 and S2.
thael S1.duT S2., Option ID :- 1471,

. Only S2 and S3.
chael S2 a1 S3., Option ID :- 1472,

Answer Given:- Only S1.
thaer S1.,0nly S3.
chaet S3., Option ID : -1469, 1470

Question ID:- 379 43
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UNIT - 1 Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

Let V be the vector space of polynomials f(X,Y) € R[X, ¥] with (total)

degree less than 3. Let T: V — V be the linear transformation given by
a

a.
Which of the following statements are true?

A fdh 3 9 HH BIC (Pa) 910 SgUal F(X,Y) € R[X, V] i T

=

Options:-

.The nullity of T is at least 3.

T Y =<t &5 @ A 3 g1, Option ID :- 1513,

. The rank of T is at least 4.

T &Y @i (rank) &% @ &5 4 g1, Option ID :- 1514,

. The rank of T is at least 3.
T & &ife (rank) &9 & &5 3 81, Option ID :- 1515,

. T is invertible.

T =gerHofta g1, Option ID :- 1516,

Answer Given:- Not Attempted

Question ID:- 377

UNIT - 1

Options:-
A"=0,

Option ID :- 1505,
A% =

L] n ]

Option ID :- 1506,
A=0,

Option ID :- 1507,
At

Option ID :- 1508, 44
Answer Given:- Not Attempted
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Phone: 8113887329, 8075791772

Question ID:- 376

UNIT -1

Email: cmscsirnet@gmail.com

For a positive integer n = 2, let M,,(R) denote the vector space of n X n
matrices with entries in R. Which of the following statements are true?

U eF TS QUi n > 2 & U AF fb R A UfAPaiad nxn

Options:-

Option ID :- 1501,

Option ID :- 1502,

Option ID :- 1503,

Option ID :- 1504,
Answer Given:- Not Attempted

Question ID:- 382

UNIT -1

45
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Phone: 8113887329, 8075791772

On the complex vector space C'°EMRH srasastRes@Bnal.eam.. e, 0},
consider the bilinear form B(x,y) = X, x; v;, where x; and y; are the
coefficients of e; in x and y respectively. Which of the following

statements are true?

0D IR {e,, ey, ..., €100} AN GIHIY TG AP €200 W fguhmHrdg
U B, y) =2 %y, W CEIRS aﬁ, NEIET x; Ul y, PHRL x dYl yaf
Ul e, g | FRICIRIT H B 91 6Y Id 82

Options:-

Option ID :- 1525,

Option ID :- 1526,

Option ID :- 1527,

Option ID :- 1528,

Answer Given:-

, Option ID : -1527, 1528

Question ID:- 375

UNIT -1

Let A be ann X n matrix with entries in R such that 4 and A2 are of the
same rank. Consider the linear transformation T: R™ — IR" defined by
T(v) = Av for all v € R™. Which of the following statements are true?

46
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Or 5 R 7 Rl ard $1S » R0

Ic ; A2
Wﬁﬁﬁ(wk]ﬂ?%ﬁ@ﬁﬂ?ﬁ%ﬂ'nmﬂ R" AR 6 ol 6
T(v) = Av Rl 9l v € R* & fog uRyIdd g |

AP A g ad e ?

Options:-
The kernels of T and T o T are the same.

Option ID :- 1497,

Option ID :- 1498,

Option ID :- 1499,

Option ID :- 1500,

Answer Given:-

, Option ID : -1498, 1499,
1500

Question ID:- 381

UNIT - 1

{1,x,%x2, ...,ix“} is an orthonormal basis of P,. let f = ¥, &; X, g =
¥ B. x' € P,. Which of the following statements are true?

i & 2, sfffiedd n Hifc 96 dRaldd agual & gl gad a1 ()
Pl P, TR SR U A fORdd W& (1,1, 247, ..., = x"} B, I
M difdh AR GI A b f =T ;%' g =L B x" € B,.

4% gacdadl d O HF U Ud g2

47
Options:-
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(f,g) =3, (iDa,pB; defines one {RANANBE HPEGIG BB ErIL 772

. another such inner product. Email: cmscsirnet@gmail.com

(f,g) = Z; (iNe,B, TP UH 3R UAHA DI TRHINT T &
A T 2R ot 2R UAEa g

Option ID :- 1521,
(f, ) = T (iDaB;

Option ID :- 1522,
(f.a) =Y., (i"N%a;B; defines one such inner product, but there is

Option ID :- 1523,

Option ID :- 1524,
Answer Given:- Not Attempted

Subject : S1 C UNIT-2
Question ID:- 396

UNIT - 2

Options:-

.A is an integral domain.
A T quifeha wid @ |, Option ID :- 1581,

. A is afinite ring.
A Uas qiRdifAa a=a & 1, Option ID :- 1582,

. Ais afield.
A T &7 (field) & 1, Option ID :- 1583,

. A is a product of two rings.

A &} g1 T U @ 1, Option ID :- 1584,

Answer Given:- A is an integral domain.

A U gotfehra uid @ 1 ,A is a finite ring.

A va uRdifAaasa g 1,Ais afield.

A U &7 (field) @ 1,A is a product of two rings.

A & g4l T UF%E & 1, Option ID : -1581, 1582, 1583, 1584

Question ID:- 384

UNIT - 2
48
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For an open subset 2 of C such that BB GIRRISEPEL@RIMGILFRT
statements are true?

¢ & fafded Iuag=d o o/d [ o e 0 g,
i geqal § ¥ B 4 Ud 87

Options:-
. {e®:z € 1} is an open subset of C.

Option ID :- 1533,

Option ID :- 1534,

Option ID :- 1535,

Option ID :- 1536,
Answer Given:- Not Attempted

Question ID:- 385

UNIT - 2

Options:-
Either X or ¥ has a limit point.

il X gy D1 Sl A1 {65 51
Option ID :- 1537,
If Y has a limit point, then f” is constant.

g v &1 g Qi1 {6g 8, a9 £ 1 A SR 3|
Option ID :- 1538, '
. If X has a limit point, then f is constant. 49

’
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Option ID :- 1539,
. f(z) €e{1,-1}forallz € C.
itz e c b oW £(2) € {1,—-13.

Option ID :- 1540,
Answer Given:- Not Attempted

Question ID:- 388

UNIT - 2

Options:-

Option ID :- 1549,

Option ID :- 1550,

Option ID :- 1551,

Option ID :- 1552,
Answer Given:- Not Attempted

Question ID:- 398

UNIT - 2

Let X € R® be given the subspace topology. Which of the following
statements are correct?
50
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Options:-

If X is finite, then every function f: X — R is continuous.

¢ x aRIfd 3, 79 g HaH £: X —» R Fdd gl ,

Option ID :- 1589,
If every function f: X — R is continuous, then X is finite.

Option ID :- 1590,

Option ID :- 1591,

Option ID :- 1592,
Answer Given:- Not Attempted

Question ID:- 383

UNIT -2

Options:-

’

Option ID :- 1529,
There exists r > 0 such that f(z) = 0 for every z € ] satisfying
Llz—z| =T

WIr>0 SYUBRE P |22, < r DI GG BAAA UdD z € 0 Y f(z) = 0 T

Option ID :- 1530,
If z, € 1), there existsr > O such that f(z) =0on |z —z| =T.

U 2, € 0TANTH r >0 SHUBR GNP |z — 2| = 7 W f(z) = 02|

) 51 ’
Option ID :- 1531,
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Option ID :- 1532,
Answer Given:- Not Attempted

Question ID:- 387

UNIT - 2

Let a, b be positive integers with a > b and a + b = 24. Suppose that

Options:-
Option ID :- 1545,

Option ID :- 1546,

7

Option ID :- 1547,

Option ID :- 1548,
Answer Given:- Not Attempted

Question ID:- 389

UNIT - 2

Which of the following are class equations for #inite group?

= & @i o uRfaa aegg & forg af aefieon (class equations) &2

Options:-

»1+3+3+3+3+13+13=39, Option ID :- 1553,
o 1+142+242+2+2+2=14, Option ID :- 1554,
. 1+3+3+7+7=21, Option ID :- 1555,

. 1+1+1+245+5=15, Option ID :- 1556,
Answer Given:- Not Attempted

Question ID:- 395 52
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Which of the following statements are necessarily true regarding a groug of order 2022?
= gaaeal 4 @ &9 | FifE (order) 2022 F w9g G & fog sifFarda: g §?
Options:-

Let g be an element of odd order in G and s, the permutation of G

given by s, (x) = gx for x € G. Then s, is an even permutation.

Option ID :- 1577,

Option ID :- 1578,

Option ID :- 1579,

Option ID :- 1580,
Answer Given:- Not Attempted

Question ID:- 399

UNIT -2

FH a9 o Y Tgl g2

Options:-
If X is a nonempty connected subspace of R} then X contains only one
. element.

gig x R, P! 3Ra Haa IUud® g1, @ x ¥ Had U 34aad g ,

Option ID :- 1593,
53
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R, contains a countable dense sGASUE: 8113887329, 8075791772
. Email: cmscsirnet@gmail.com

R, ¥ U& 1IUFTE |o QUeH=R 81
Option ID :- 1594,
. Any open cover of R has a countable subcover.

R & bl ot fagd siiavs &1 s UG SuraRul |
Option ID :- 1595,
. Any countable open cover of R has a finite subcover.

R & ot ot ToFitg faga Smais &1 313 uRifid ST 2

Option ID :- 1596,
Answer Given:- Not Attempted

L

Question ID:- 397

UNIT -2

Options:-

Option ID :- 1585,

Option ID :- 1586,

f [F:F,] = n.
Option ID :- 1587,
Given any two fields F;, F; € §, either F, E F, or F; € F,.

gl Ml & F, F,es $faQ Adl F, cF, AF,SF,

Option ID :- 1588,
Answer Given:- Not Attempted

Question ID:- 386 54
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let U be a bounded open set of € containing 0. Let f:U — U be
holomorphic with f(0) = 0. For n € N, let f™ denote the composition
of f done n times, that is,

n times

while f’ denotes the derivative of f.

Whthicrh Af tha fallruaing chatamante arn fron?

Options:-

Option ID :- 1541,

Option ID :- 1542,

Option ID :- 1543,

Option ID :- 1544,
Answer Given:- Not Attempted

Subject : S1 C UNIT-3
Question ID:- 415

UNIT -3

Ly 1 _r\.u,y — wy

u(x,0) = e".

Which of the following statements are true?

55
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u, +xu, = 0,

u(x,0) = e*

7 gadadl # W B9 U T 82

Options:-
L u(2l)=e’.
Option ID :- 1657,

Option ID :- 1658,

’

Option ID :- 1659,

’

Option ID :- 1660,
Answer Given:- Not Attempted

Question ID:- 420

UNIT -3

Options:-
y is unique.

y efgdia gl
Option ID :- 1677,
v is always a polynomial of even order.

y &l H DI B GgUE 5|
Option ID :- 1678,

! 56
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y el fq9H Difc H1 9gUs ¢
Option ID :- 1679,
No such v exists.

[ B

Option ID :- 1680,
Answer Given:- Not Attempted

Question ID:- 422

UNIT -3

Options:-

Option ID :- 1685,
Option ID :- 1686,

Option ID :- 1687,
2

e

Option ID :- 1688,
Answer Given:- Not Attempted

Question ID:- 417

UNIT -3

57
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1+45 15

Consider o = and g = — Define a sequence of numbers E, as
follows:
a™ — Bgn
.= 7'8 forn=1,2, ..
a—p

Let p: IR — IR be a polynomial of degree at most 2 such that
p(1)=F, pB)=F, p®)=F.

Whirh nf tha fallmwing etatamante ara TRIIF?

Options:-

Option ID :- 1665,

Option ID :- 1666,

Option ID :- 1667,
Option ID :- 1668,
Answer Given:-

, Option ID : -1665, 1667

Question ID:- 414

UNIT-3

58
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7 3l IR A gamel )R [daR &f

Options:-

ol is uniquely solvable.

| sifgefma: arvfm @1, Option ID :- 1653,

o Il is uniquely solvable.

11 sifgefraa: su=ha 21, Option ID :- 1654,

« | has multiple solutions.

| & sga @ ga &, Option ID :- 1655,

« Il has multiple solutions.

Il & aga @ g= &1, Option ID :- 1656,
Answer Given:-is uniquely solvable.

1 sifgefua: @i g1 11 is uniquely solvable.

Il ifgefa: merfta @1, Option ID @ -1653, 1654

Question ID:- 419

UNIT -3

letM = supfexf[f] and m = infee, I[f].

Which of the following statements are true?
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Ph HBl 807579
AT X~ e 00 0 R GRS A

I(u) = f e~ @7 g Wi u € x B foTE

T B M = sup . J[f] T m = infe, d[£].
FE TR Hy eI Td e ?

Options:-

L

Option ID :- 1673,

Option ID :- 1674,

Option ID :- 1675,

Option ID :- 1676,
Answer Given:- Not Attempted

Question ID:- 423

UNIT -3

d® Jgad H 3U T YA A1 & a4l g TEAA RIS |
e H Y DT TG ? s

Options:-

_ pxz 142 ()2
r=] 2gz(x)

° ’

Option ID :- 1689, 60
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Xz . . .
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£ 2gz(x)
Option ID :- 1690,

T is minimized when C is a straight line.

Ofd ¢ TR W8, 7 T GrdH g
Option ID :- 1691,
The minimizer of T cannot be a straight line.

e o u FORRRIEUIN o S, ETPNATCORRT (1

Option ID :- 1692,
Answer Given:- Not Attempted

Question ID:- 412

UNIT -3

Options:-

Option ID :- 1645,

Option ID :- 1646,

Tt ¢ € (0, 00) F AT x(£) — x(0) €imA
Option ID :- 1647,
lim,_ . x(t) exists.

lim,._..x(¢) BT ARKTd &

Option ID :- 1648,
Answer Given:- Not Attempted

Question ID:- 416 61
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Let u: R® — R satisfy Au = 0. Define v(x) = u(Mx), where M is the

0 -1 0
M=|1 0 0
0 0 1

Which of the following statements are necessarily true?

3 X 3 matrix

Options:-
Option ID :- 1661,

Option ID :- 1662,

7

Option ID :- 1663,

Option ID :- 1664,
Answer Given:- Not Attempted

Question ID:- 421

UNIT -3

i) =sinx+ | o @,
1]
@-(x) =1—cosx — f @4 (t)dt.
0

A g AU s I Td 8 ?

Options:-
62
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2 vanishes at atmost countably ﬁﬁ%ﬁﬁﬂ&éﬁ%ﬁzzgif@zcggrié:nn

o, S T AP TUFE g3 TR T B 9 2
Option ID :- 1681,
{p, vanishes at uncountably many points.
p, STV g3l TR I g oI g
Option ID :- 1682,
0, vanishes at atmost countably many points.

’

Option ID :- 1683,

Option ID :- 1684,
Answer Given:- Not Attempted

Question ID:- 413

UNIT -3

Options:-

Option ID :- 1650, 63
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3

Option ID :- 1651,

Option ID :- 1652,

Answer Given:- , Option ID : -1651

Question ID:- 418

UNIT - 3

Options:-
Option ID :- 1669,
Option ID :- 1670,

Option ID :- 1671,

Option ID :- 1672,
Answer Given:- Not Attempted

Subject : S1 C UNIT-4
Question ID:- 455

UNIT - 4

64
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X 0 1 p 0
Let|{ Y |~N3| |0, [p 1 0] | where]|p| < 1. Which of the

Z 0/ \0 0 1

following are TRUE?

X o /1 p O
Hﬁﬁﬁ(y)mwg (o),(p ] o) ol < 1. B AR
) Z 0 0 0 1

Options:-
Option ID :- 1817,

Option ID :- 1818,

Option ID :- 1819,

’

Option ID :- 1820,
Answer Given:- Not Attempted

Question ID:- 449

UNIT - 4

Options:-

% converges to 2 in probability.

I oAyl # 2 &1 3R AR g 8 |

Option ID :- 1793,
¥n
n2/3

W(Y“)maﬂwoaﬁaﬁ?@m% W& n - oo.

n2/2

’

Variance( ) converges to 0, asn — oo,

’

Option ID :- 1794, 65
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'n_ ol Uifiedl | ARG ¢ 3 2R EIFHT%,GBTO<C<OO.

n2i3
Option ID :- 1795,

% converges to 0 in probability.

5 gt # 0 @1 3R iR gl & |

Option ID :- 1796,

Answer Given:-

, Option ID : -1795, 1796

Question ID:- 456

UNIT - 4

Options:-

Option ID :- 1821,

Option ID :- 1822,

« Survival function of the random variable X cannot be determined from the given information.

& 7 SR @ grgfden TR X &1 sifashfaar ke fAfRd &een duwa agi g1, Option ID :- 1823,

« The survival function, density function and distribution function can be determined from the given information.

& 1S SR @ sifasifaar wem, o9e e auT deq b AR fohg s @ewa &1, Option ID :- 1824,
Answer Given:- Not Attempted

Question ID:- 446 66
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The probability density function of a continuous random variable X is given
by
. X0

feo={5

i otherwise.

Let ¥ = [X], where [X] denotes the largest integer not exceeding X. Which
of the following statements are CORRECT?

Options:-

’

Option ID :- 1781,

Option ID :- 1782,

Option ID :- 1783,

Option ID :- 1784,

Answer Given:- , ,
1784

, Option ID : -1782, 1783,

Question ID:- 457

UNIT - 4

Options:-
P 67
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3R g (proper prior) & 31=wid p T A5T 3meherah ot weT sif¥a g1, Option ID :- 1825,

« There is a proper prior for which the Bayes estimator of p is unbiased.

Qa1 3R g (prior) & & =il p &1 &1 3nTeheieh oFfR=a &1, Option ID :- 1826,

« The Bayes estimator of p under an improper prior is always biased.

SR g (improper prior) @ & 3i=Aifd i &1 A 3Tehereh 9&1 3if¥=d g1, Option ID :- 1827,

« There is an improper prior for which the Bayes estimator of p is unbiased.

Qar sid s1gR gdf (improper prior) @ S forg p o1 3 emeheres A=« &1, Option ID :- 1828,
Answer Given:- Not Attempted

Question ID:- 444

UNIT - 4

Options:-

Option ID :- 1773,

Option ID :- 1774,

Option ID :- 1775,

Option ID :- 1776,

Expected value ot max(X,, X;) is —.
Answer Given:- i

mﬂ 1
(X, X;) DI HIT i % | conditional expectation of X; given X, + X, is 0.5(X; + X,).

X, + X, B R X, B GicdYy TARM0.5(X, + X,) 81 X, — X, and X, + X, are independent.

X, — X, ™X,+X, ESRER X2+ X2 and?are independent.
, z

X7 +X3 U1 2 WA gl

2 , Option ID : -1773, 1684, 1775, 1776
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Consider the hierarchical single linkage agglomerative clustering algorithm for three points X=

(1,0), Y=(0,2), Z=(3,3), and the squared Euclidean distance matrix. The clustering algorithm start
with three clusters. Then which of the following statements are correct.

&= fagad X=(1,0), Y=(0,2), Z=(3,3)aur afifa gfaerdia €& sneyg & A yetwaar-ARk, gara-sy
e o+ sed A R fdaR| w7 e R 9 Tesf oy gt gl aa R s d S o=
qudE

Options:-

.At the first step, after combining two nearest clusters, the single linkage distance between the
two newly formed clusters is 10. ]

YA =RUT #, gt FHfiuad s ol AR & a1, 78 99 3 st & fi= gw-dy-gd 10 &1, Option ID :-
1833,

. At the first step, X and Y are merged to form a new cluster.

UYH TRUT |, 747 =5 99 & fag X aun Y &« it €1, Option ID :- 1834,

. At the first step, after combining two nearest clusters, the single linkage distance between the
two newly formed clusters is 13. )

uYH =RoT A, gt gHiua#d ol ol AR & a5, 98 9 &) 7ot & o9 gw-du-gd 13 81, Option ID :-
1835,

« At the first step, X and Z are merged to form a new cluster.
UYH TRUT | 4T S S & fg, X au1 Z faw st €, Option ID :- 1836,

Answer Given:- Not Attempted

Question ID:- 450

UNIT - 4

deld e R HJld g
Xy, oo X, OR STHIRT dobletids URBEAT H,:0 > 3 B [A%G RISV

UR&THT Hy: 6 < 3% RIS &1 GO IR iUl O b L(e) T
e S BT 8 T xy) = min(xy, ..., x,0) 8 | FF ST AA S

SEE

Options:-
69
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S xyy < 3BT sup,_,L(8) = ' @ e~ Zitix

Option ID :- 1797,
SUPg,L(8) = €10 *@ e~ it jf x ) > 3

Eﬂ:qrx(]) >3gldl SUPg.,L(8) = e'®*W e~ Titi %

Option ID :- 1798,

Option ID :- 1799,

Option ID :- 1800,
Answer Given:- Not Attempted

Question ID:- 448

UNIT - 4

n-—oo?

PX, =1) = p_E (0,1). HTbeD! & 1+ SFIHA H Y DI Ul p & T WA
g

Options:-
o, x:n=1}

n =11

Option ID :- 1789, 70
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Option ID :- 1790,

Byl (R
(.)ption ID :- 1791, ,
{i i=1 o 1 Xpzn = 1}

Option ID :- 1792,
Answer Given:- Not Attempted

Question ID:- 575

UNIT- 4

Options:-

, Option ID :- 2297,
e criueal ICEIUII wonnusL PUM’UUJ Ul LE3L Ul L . — U.U"l', (AW]]

testing H, against H,, is given by {x:3 < x < 6}

H, & Ta%g H, & 1= & {6, 4155 a = 0.04 % 994
TfRerTefT T T FITF & (1:3 <x < 6} HFATSETE gption 1D :- 2208
The power of the most powerful test of size &« = 0.04, for testing
H, against f,, s 0.18
H, & fa&Z H, % 0@ & [0, 9159 a = 0.04 & a94
STTheTT=iT TXrEToT 7 916 0.18 §l 71

1

, Option ID :- 2299,
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Most powerful test of size @ = Oaﬂﬁ%i’ SRR AR H 1772
does notexist Email: cmscsirnet@gmail.com

H, % fa&g H, % w<&wr & fou, 916 a = 0.04 w1 999
STTReTTel TEIE SAfeded # T2l 2l

Answer Given:- Not Attempted

, Option ID :- 2300,

Question ID:- 458

UNIT - 4

Options:-

Option ID :- 1829,

Option ID :- 1830,

G, 1 f, B T T TER0 3 g
Option ID :- 1831, '

;5‘1 has the same variance as that of EAZ.

3,91 FERUT 3T 81 & fofT B, o |
Option ID :- 1832,

. ,éz has larger variance than ﬁ’l.
Answer Given:- 72

’
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Question ID:- 453

UNIT - 4

Suppose X,,...,X, are independent and identically distributed random
variables from the Normal distribution with mean 8 and known variance a2. If

the prior distribution of & is Normal with mean u and variance 12, then which

Options:-

.With respect to the squared error loss function, Bayes estimator is the mean of the posterior
distribution.

afifa Ffe g1~ werst & ATder, a5 sireheieh, Iear UTRAhdT sie=T a1 AT g1, Option ID :- 1809,

. With respect to the squared error loss function, Bayes estimator is the median of the posterior
distribution.

afifa Ffe e1f et & ATder, A siThetah, Ieeak UG de=T &Y ArfeAaRT 81, Option ID :- 1810,

. With respect to the absolute error loss function, Bayes estimator is the median of the posteriol
distribution.

Ader yfe g1 wert & wmder, A5t sireheteh, Icar TRkt sie 6 wifedet g1, Option ID :- 1811,

. With respect to the absolute error loss function, Bayes estimator is the mean of the posterior
distribution.

fAder Ffe g1 w1 & der, 351 SiTaheTah, Ieak WA sie &l |1e4 g1, Option ID :- 1812,

Answer Given:- Not Attempted

Question ID:- 454

UNIT - 4

s

Y, = Bty + -, 4B, %y + € WU H E(e) = 0, Cov(e,6,) =0,
qie i + k AU Var(e,) = 02, i,k = 1,...,n. & 10T |

Tie y, I = I e 5, 8 Ui = 1, ..., n & 101G, T BT
3AfRC & ¢, a9 A Y= § U ®F Yad Wel g2

Options:- 73
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Y. & =004 X, FE = 0.
Option ID :- 1813,
Xix;&=0; forall j=1,..,p.

7

il j=1,.pbfMUT x5 =0

Option ID :- 1814,

1

Option ID :- 1815,

Option ID :- 1816,
Answer Given:- Not Attempted

Question ID:- 445

UNIT - 4

Options:-

Option ID :- 1777,

Option ID :- 1778,

g x FRUeT 9ad 8, a9 P(X > —2) =0

Option ID :- 1779,
If X is absolutely continuous, then P(X > —2) = 1/2.

’

a1 x FRUeA: Tad g, T P(X > —2) = 1/2

Option ID :- 1780,

If X is discrete and P(X = —2) = E, then P(X > —-2) =1/6.
Answer Given:- 73
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If X is absolutely continuous, then P(X > —2) = 1/2.

gfg x FRUeRE: a8, J8P(X > —2) = 1/2 ,
, Option ID : -1777, 1780

Question ID:- 443

UNIT - 4

Options:-

oIt is an irreducible Markov Chain.

g Qe JeTgeoily Atehla si@e g1, Option ID :- 1769,

« All the states are recurrent.

gaft sreeyrd adt €1, Option ID :- 1770,

Option ID :- 1771,

o All the states have same period.

gt sraerail & srafd wret gur &1, Option ID :- 1772,
Answer Given:- Not Attempted

Question ID:- 447

UNIT - 4

75
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let X,,X;,..,X;; be a random sample from Uniform(0,1) and

X1y, X2y, -, X(10y denote the corresponding order statistics. Which of the
following statements are true?

o+ f& X, X, ... X,, Uniform(0,1) ¥ ¥ dEfse ufdex § ol
X1y X2y, o X0y 0T pAUIOGY B FA Sy A S AT € 2

Options:-
. X2y ~ Beta(2,9). .
Option ID :- 1785,

Option ID :- 1786,

Option ID :- 1787,

’

Option ID :- 1788,

Answer Given:- , , ,
Option ID : -1785, 1786, 1787, 1788

Question ID:- 442

UNIT - 4
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.All the states have same periods. @g

gt ergeuTeil & U S 3rafd skt €1, Option ID :- 1765,

. All the states are transient.

gt eraeur e1fores &1, Option ID :- 1766,

. Some states are transient.

TS AHaEUTd &1fores g1, Option ID :- 1767,

. All the states are recurrent.
gt sraurd geRadt g1, Option ID :- 1768,

Answer Given:- Not Attempted

Question ID:- 451

UNIT - 4

Options:-

Option ID :- 1801,

Option ID :- 1802,

Option ID :- 1803,

Option ID :- 1804,

= L L R A A R R A AR e = R L R A L

a?

Answer Given:- .
V7 U Hrg-ai ATEfede R @ ! (n — 1) WA Sl gl
Variance of 62 tends to 0 as n — oo.

WY 1 oo, 52 PTIRRTI oaﬁaﬁqqqﬁfaﬂ%, Option ID : -1801, 1803

Print ResponseSheet




